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1 (a) (iii) There is no development of the point. The simple idea about wealth has not been elaborated upon
with any ideas about GNI being an average figure or being measured per person per annum.
Therefore a 1+1 mark cannot be awarded.

1 (b) (i) ‘Pollution’ needs qualification and has therefore, been rejected.

1 (b) (ii) There are two Level 1 statements as there is no clear development of either point. They are lifts from
figure 2. ‘Pollution’ again, needs qualification.

1(d) (i) The sectors for secondary/tertiary industry have not been completed with sufficient accuracy.

1 (e) (ii) All are Level 1 statements as there is no clear development of any of the points. They are lifts from
figure 5 listing activities and their locations. There is no link to the level of economic development or
the sector the economic activities belong to.

1 (f) (ii) There is clear development of the first point, linking cheap labour to increased profits for the company.
This is a Level 2 response.

1 (f) (iv) Although two valid points are made by the candidate, only one has been sufficiently developed in
order to gain a Level 2 response. The point about goods being ‘easier to transport’ needs further
explanation and is therefore, a Level 1 statement.

2 (b) (ii) There is clear development of the first point, linking ‘jobs’ to improved quality of life. This is a Level 2
response.
2 (c) (ii) There is clear development of two points and maximum marks have been awarded. The first point

referring to ‘clean the beach up’ is linked to reasons how and why this is achieved. The second point
referring to ‘hotels’ is linked to an explanation of how the scheme works. A further point referring to
‘police’ needs further development and is a Level 1 statement.

2 (d) (iii) None of the bars have been drawn with sufficient accuracy.

2 (d) (iv) All are Level 1 statements as there is no clear development of any of the points. They are derived
from figure 9 and do not suggest how low GNI, low life expectancy and low literacy rates would result
in a poor quality of life for people.

2 (e) (iii) Number 1 is unacceptable as a cause of increased tourist numbers. ‘Rainforest’ needs some
qualification such as ‘increased environmental awareness means that more people want to visit the
rainforest’.

2 (e) (iv)  The answer gains the maximum mark as a valid reason is given and the two explanatory points
clearly relate to this reason. A well developed response.

2 (f) (ii) There is no clear understanding of the environmental impact of the problems labelled. There are
three valid points shown, but none have been elaborated upon to show how they affect the coastal
environment. The point about ‘pollution in the sky’ is just acceptable as a reference to atmospheric
pollution.
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